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QUESTION 1

What takes place when a process accesses a data object on which it already holds a lock, and the access mode
requires a more restrictive lock than the one currently held? 

A. Lock wait 

B. Lock timeout 

C. Lock escalation 

D. Lock conversion 

Correct Answer: D 

 

QUESTION 2

Which DB2 object is associated with PREVIOUS VALUE and NEXT VALUE expressions? 

A. View 

B. Table 

C. Sequence 

D. Identity Column 

Correct Answer: C 

 

QUESTION 3

When is a mask used to limit access to data in a table? 

A. When mandatory access control (MAC) is used to protect the table. 

B. When discretionary access control (DAC) is used to protect the table. 

C. When label-based access control (LBAC) is used to protect the table. 

D. When row and column access control (RCAC) is used to protect the table. 

Correct Answer: D 

 

QUESTION 4

You have a business need to query DB2 10 and DB2 9 databases and you want to write an application that can run on
most platforms unchanged. Which interface would you use to achieve your goal? 

A. CLI 
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B. XML 

C. JDBC 

D. RUBY 

Correct Answer: C 

 

QUESTION 5

If no isolation level is specified, what is the default isolation level used? 

A. Cursor Stability (CS) 

B. Repeatable Read (RR) 

C. Read Stability (RS) with Currently Committed semantics 

D. Cursor Stability (CS) with Currently Committed semantics 

Correct Answer: A 
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